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Internal Assessment Resource

Economics Level 1
EXPIRED
	This resource supports assessment against:

Achievement Standard 90988 version 3
Demonstrate understanding of the interdependence of sectors of the New Zealand economy

	Resource title: Investigating interdependence and the impacts of the Kiwifruit Vine Disease on sectors of the NZ economy

	3 credits

	This resource:
· Clarifies the requirements of the standard
· Supports good assessment practice
· Should be subjected to the school’s usual assessment quality assurance process
· Should be modified to make the context relevant to students in their school environment and ensure that submitted evidence is authentic


	Date version published by Ministry of Education
	February 2015 Version 3

To support internal assessment from 2015

	Quality assurance status
	These materials have been quality assured by NZQA.

NZQA Approved number A-A-02-2015-90988-02-4409

	Authenticity of evidence
	Teachers must manage authenticity for any assessment from a public source, because students may have access to the assessment schedule or student exemplar material.

Using this assessment resource without modification may mean that students’ work is not authentic. The teacher may need to change figures, measurements or data sources or set a different context or topic to be investigated or a different text to read or perform.


Internal Assessment Resource
Achievement Standard Economics 90988: Demonstrate understanding of the interdependence of sectors of the New Zealand economy
Resource reference: Economics 1.6B v3
Resource title: Investigating Interdependence and the Impacts of the Kiwifruit Vine Disease on Sectors of the NZ Economy

Credits: 3
Teacher guidelines

The following guidelines are supplied to enable teachers to carry out valid and consistent assessment using this internal assessment resource.

Teachers need to be very familiar with the outcome being assessed by Achievement Standard Economics 90988. The achievement criteria and the explanatory notes contain information, definitions, and requirements that are crucial when interpreting the standard and assessing students against it.
Context/setting
This activity requires students to investigate interdependence between households and other sectors in order to demonstrate their understanding of the interdependence of sectors of the New Zealand economy.  

The activity is generic, but in the version of the activity used here, the Kiwifruit Vine Disease is used as the example of a recent economic event that had an impact on New Zealand producers.
Students collect information from their family that shows the family’s participation in the economy. Students need to create a presentation based on a circular flow model that illustrates the flows between sectors and to explain this model with examples relating to their family’s participation in the economy. 

The evidence they collect could include quotes from an interview with people from the firm, photos, digital images from the Internet, samples of documents, and/or physical samples.

Students will also create a presentation in which they use two simple economic models to explain how the impacts that a recent economic event had on New Zealand producers led to flow-on effects in other sectors.
The students can present their findings as a multimedia presentation, or you may confirm another appropriate presentation format with them.

This activity provides a clearly structured framework that you can adapt to examine the interdependence of sectors of the economy in a range of contexts. Before using it, you need to choose a context and adapt the activity and assessment schedule to suit that context.

Students are expected to gain some first-hand experience on which to base their learning about the interdependence of sectors of the economy. 

Conditions
You need to decide how long your students will need to complete the task and what processes they will follow. Ensure that these are clearly outlined in the Student Instructions.  

The students will work individually.
It would be appropriate for them to work under open book conditions with investigation facilities provided. 

Resource requirements

Students will need access to computers to do research, contact firms by email if they require more information, and complete their presentations. 

Additional information

None.

Internal Assessment Resource
Achievement Standard Economics 90988: Demonstrate understanding of the interdependence of sectors of the New Zealand economy
Resource reference: Economics 1.6B v3
Resource title: Investigating Interdependence and the Impacts of the Kiwifruit Vine Disease on Sectors of the NZ Economy

Credits: 3
	Achievement
	Achievement with Merit
	Achievement with Excellence

	Demonstrate understanding of the interdependence of sectors of the New Zealand economy.
	Demonstrate in-depth understanding of the interdependence of sectors of the New Zealand economy.
	Demonstrate comprehensive understanding of the interdependence of sectors of the New Zealand economy.


Student instructions 

Introduction

This assessment activity requires you to demonstrate an understanding of the interdependence of sectors of the New Zealand economy.

You will gather information about your family’s participation in the economy, create a circular flow model that illustrates the flows between sectors, and explain this model with examples relating to your family’s participation in the economy.

You will then use two simple economic models to explain how the impacts that a recent economic event had on New Zealand producers led to flow-on effects in other sectors.

You will present your findings as a multimedia presentation.

Teacher note: Adapt the presentation format to suit your students, e.g. a poster.

The evidence you collect could include quotes from an interview with people from the firm, photos, digital images from the Internet, samples of documents, and/or physical samples.
Teacher note: Specify a timeframe and processes that suit your students.

You will work individually to complete this work.

You will be assessed on the basis of the relevance of the information you gather, the accuracy and completeness of your diagram, your use of correct economics language, and how well you explain the interdependence of sectors of the economy, based on economic models.

Task

Before beginning this task, see Student Resources A and B for guidance. 

Teacher note: You may choose to give students planning templates to help with the task. Examples are provided in the assessment schedule.

Gather information

Gather information about your own family’s participation in the economy, including specific examples of firms, goods and services provided, and money flows or transfers.
Present your findings

Create a multimedia presentation that uses a circular flow model to explain how your household has an interdependent relationship with other sectors in the economy. 

You will need to show how your household relies on each sector and how that sector relies on your household.  

Make reference to the flow(s) and examples you showed on your diagram.

Present an explanation 

Create a presentation that uses the circular flow model to show the impacts of the Kiwifruit Vine Disease on New Zealand producers and the flow-on effects to other sectors of the economy.

Provide a simple diagrammatic model that shows the interdependence of the primary producer sector and the tertiary producer sector, with particular reference to the kiwifruit industry.

Explain these impacts and effects.

Refer to your diagram and the firms you used as examples.

Student Resource A: Further guidance

Collecting evidence

Gather information that:

· includes at least two examples of your family’s interdependence with the producer sector. If possible, one should be an example of an employer/employee relationship and another an example featuring a producer of a good or service the family relies on. If there is no employer/employee relationship, identify two firms that provide goods and services for the family 

· describes the nature of the interdependence in each example

· includes an example of your family’s interdependence with the financial sector, with a specific description of the nature of the interdependence and the firm(s) involved

· examples and details of your family’s interdependence with the government sector.

Presenting your findings

Create a flow diagram that illustrates how your household is interdependent with other sectors of the economy, by showing:

· real flows and money flows between your household and at least two producers

· the specific money flows between your household, government and the financial sector. Note that you will not typically have a direct relationship with the overseas sector unless you have travelled overseas or your household deals directly with an overseas business. 

Explain in detail: 

· two ways in which the Household Sector and Producer Sector are interdependent

· how households are interdependent with one other sector that is not the producer’s sector.

Presenting your explanation

Provide a simple diagrammatic model that shows the interdependence of the primary producer sector and the tertiary producer sector, with particular reference to the kiwifruit industry.

Explain in detail the impacts that the Kiwifruit Vine Disease would have on the Producer Sector that is linked with your model. You should:

· explain the effect upon kiwifruit producers

· explain the interdependence of the Primary and Tertiary Producer sectors, with reference to the kiwifruit industry

· explain the flow-on effect on other interdependent producers in the Tertiary Sector

Explain in detail the flow-on effects to these sectors that integrate with your model. 

Explain using your economic model and the concept of interdependence, why the economic impact of the Kiwifruit Vine Disease will affect a much wider area than the regions that grow kiwifruit.

Student Resource B: News item

BNZ considering kiwifruit impact

The BNZ has looked at the economic impact of the vine killing disease that's hit the kiwifruit industry.

Economist Doug Steel says it would be wrong to conclude that the full cost to the economy stops with the hit to on-orchard production and profitability.

He says the impact of PSA will be far more wide-ranging, as the associated industries that service kiwifruit growers cop the fallout from any loss of production and income.

Mr Steel says these multiplier effects could easily double or triple whatever impact there is on orchards.

Source: Transcribed from Newstalk ZB, 19 November 2010, 12:28 pm

Assessment schedule: Economics 90988 Investigating Interdependence and the Impacts of the Kiwifruit Vine Disease on Sectors of the NZ Economy

	Evidence/Judgements for Achievement
	Evidence/Judgements for Achievement with Merit
	Evidence/Judgements for Achievement with Excellence

	The student demonstrates understanding of the interdependence of sectors of the New Zealand economy. 

The student gathers and provides information about their family’s participation in the economy.

The student produces a multimedia presentation that uses a circular flow model to show the real and money flows between the family and the producer sector, government sector and financial sector. 

The sectors are correctly labelled and the directional lines and arrows in their circular flow models are accurate. Specific examples of these flows relate to their family’s role in the circular flow model.

The student explains the interdependence between the household sector and the producer sector, using two firms that their family is interdependent with as examples.

The student explains the interdependence between the household sector and one other sector and provides an example of their family’s interdependence to support this.

The student creates a simple model and explains the interdependence of the primary sector and the tertiary sector, using the kiwifruit industry as an example.

The student explains either the impact of the Kiwifruit Vine Disease on the primary sector or the flow-on effects to the tertiary sector. 

The student creates a simple model and explains the effect of the Kiwifruit Vine Disease on the producer sector and/or the flow-on effects to two other sectors.

For example:

Household interdependent relationships

Our household goes to supermarket where we buy groceries, and this provides income for the supermarket. We buy petrol for the car, which provides income for the service station. 

OR

My mum works for the local supermarket as a retail manager. In return she is paid a salary.

Explanation of the interdependent relationship between the household sector and one other sector apart from the producer sector

The Household Sector relies on the Government Sector to provide services such as education and health. The government relies on households to pay taxes.

I attend a state secondary school that is paid for by the government. My mother’s job pays tax to the government.

Kiwifruit Vine Disease

The Kiwifruit Vine Disease will result in growers having to pull out vines. This will decrease the production of kiwifruit.

And/or as less kiwifruit are being produced less services will be demanded from the Tertiary Sector producers such as transport.

AND/OR

Flow on effects to other sectors

The Kiwifruit Vine disease results in a drop in production of kiwifruit. This results in a drop in employment of kiwifruit pickers and packers, so household receives less income. Since income has decreased, less tax is collected by the government.


	The student demonstrates in-depth understanding of the interdependence of sectors of the New Zealand economy. 

The student gathers and provides information about their family’s participation in the economy.

The student produces a multimedia presentation that uses a circular flow model to show the real and money flows between the family and the producer sector, government sector and financial sector. 

The sectors are correctly labelled and the directional lines and arrows in their circular flow models are accurate. Specific examples of these flows relate to their family’s role in the circular flow model.

The student explains in detail the two ways that households have an interdependent relationship with the producer sector and explains all the aspects of interdependence shown on their circular model, using correct economic language.

The student explains in detail the interdependence of the household sector and one other sector apart from the producer sector, including an explanation of all the aspects of interdependence shown on their circular model for this sector, using correct economic language.

The student creates a simple model and explains the interdependence of the primary sector and the tertiary sector, using the kiwifruit industry as an example.

The student explains in detail the impact of the Kiwifruit Vine Disease on the tertiary sector, with reference to the economic model they created. 

The student creates a simple model and explains in detail the effect of the Kiwifruit Vine Disease on the producer sector and/or the flow-on effects to two other sectors, using the model.
For example:

Household interdependent relationships

Our household goes to supermarket where we buy groceries, and this provides income for the supermarket. We buy petrol for the car, which provides income for the service station. 

OR

My mum works for the local supermarket as a retail manager. In return she is paid a salary.

Explanation of the interdependent relationship between the household sector and the producer sector

The producer sector depends on the household sector to purchase goods and service from them so they can earn an income.
The model shows my household’s going to the supermarket where they buy groceries and so provide income to this producer, and they buy petrol for the car, which provides income for the service station. 

The producer sector relies on the Household Sector to provide resources, which it uses to produce goods and services. The households rely on the producers to pay them an income so they can purchase goods and services to satisfy their needs and wants.
The model shows my mum works for the local supermarket as a retail manager. In return she is paid a salary.

Interdependence of household sector and other sectors

The household sector relies on the government sector in several ways. The government provides essential services for households such as roads, health and education. This is the arrow shown from the government to producers. They also provide benefits when household income is too low, the arrow from government to households. The government cannot provide these services if it does not collect income taxes from households and GST from household spending. This is the arrow from households to the government.

My household uses many government provided services such as local schools, the roads and so on. My mother has her tax deducted from her wages by the supermarket and this is paid to the government. This is an example of a direct tax on income. Each time we spend money on goods and services we pay GST.

Kiwifruit Vine Disease

Interdependence of primary and other sectors

The Kiwifruit Vine Disease will result in growers having to pull out vines. This will decrease the production of kiwifruit.

And/or as less kiwifruit are being produced less services will be demanded from the Tertiary Sector producers such as transport.

The Primary Sector producers are interdependent with other firms who provide services they need. For example, my diagram shows that kiwifruit producers are interdependent with firms providing services such as transport, storage and packaging. These tertiary firms rely on kiwifruit firms for their income. The impact of the Kiwifruit Vine disease is likely to mean production of kiwifruit will decrease. As a result there will be a drop in the need for transport, storage and packaging for kiwifruit. This will mean these producers will lose income. Since these firms are interdependent, a fall in the production of the primary sector will have a flow on effect to the tertiary sector.

AND/OR

Flow on effects to other sectors 
The Kiwifruit Vine disease results in a drop in production of kiwifruit due to vines being pulled out or becoming less productive. My diagram shows that the Household Sector supplies workers for the producers, and is dependent on the production sector for income. The drop in production results in a drop in employment of kiwifruit pickers and packers, so household receives less income. The government depends on households for tax revenue. Since income has decreased less income tax is collected by the government.
	The student demonstrates comprehensive understanding of the interdependence of sectors of the New Zealand economy. 

The student gathers and provides information about their family’s participation in the economy.

The student produces a multimedia presentation that uses a circular flow model to show the real and money flows between the family and the producer sector, government sector and financial sector. 

The sectors are correctly labelled and the directional lines and arrows in their circular flow models are accurate. Specific examples of these flows relate to their family’s role in the circular flow model.

The student explains in detail the two ways that households have an interdependent relationship with the producer sector and explains all the aspects of interdependence shown on their circular model, using correct economic language.

The student explains in detail the interdependence of the household sector and one other sector apart from the producer sector, including an explanation of all the aspects of interdependence shown on their circular model for this sector, using correct economic language.

The student creates a simple model and explains the interdependence of the primary sector and the tertiary sector, using the kiwifruit industry as an example.

The student explains in detail the impact of the Kiwifruit Vine Disease on the primary sector and the flow-on effects to the tertiary sector, with reference to the economic model they created. 

The student explains in detail the effects of the Kiwifruit Vine Disease on the producer sector and the flow-on effects on two other sectors using the economic model they created, and explains that the flow-on effects will be greater than the initial economic event.

For example:

Household interdependent relationships

Our household goes to supermarket where we buy groceries, and this provides income for the supermarket. We buy petrol for the car, which provides income for the service station. 

OR

My mum works for the local supermarket as a retail manager. In return she is paid a salary.

Explanation of the interdependent relationship between the household sector and the producer sector

The producer sector depends on the household sector to purchase goods and service from them so they can earn an income.
The model shows my household’s going to the supermarket where they buy groceries and so provide income to this producer, and they buy petrol for the car, which provides income for the service station. 

The producer sector relies on the Household Sector to provide resources, which it uses to produce goods and services. The households rely on the producers to pay them an income so they can purchase goods and services to satisfy their needs and wants.
The model shows my mum works for the local supermarket as a retail manager. In return she is paid a salary.

Interdependence of household sector and other sectors.
The household sector relies on the government sector in several ways. The government provides essential services for households such as roads, health and education. This is the arrow shown from the government to producers. They also provide benefits when household income is too low, the arrow from government to households. The government cannot provide these services if it does not collect income taxes from households and GST from household spending. This is the arrow from households to the government.

My household uses many government provided services such as local schools, the roads and so on. My mother has her tax deducted from her wages by the supermarket and this is paid to the government. This is an example of a direct tax on income. Each time we spend money on goods and services we pay GST.

Kiwifruit Vine Disease

Interdependence of primary and other sectors

Kiwifruit producers are in the Primary Sector as they grow and harvest the fruit. The impact of the Vine Disease is likely to mean that some of the vines will be less productive and some may have to be destroyed. As a result the total production of kiwifruit will fall and this will result in less income for kiwifruit growers and the Primary Sector.

The Primary Sector producers are interdependent with other firms who provide services they need. For example, my diagram shows that kiwifruit producers are interdependent with firms providing services such as transport, storage and packaging. These tertiary firms rely on kiwifruit firms for their income. The impact of the Kiwifruit Vine disease is likely to mean production of kiwifruit will decrease. As a result there will be a drop in the need for transport, storage and packaging for kiwifruit. This will mean these producers will lose income. Since these firms are interdependent, a fall in the production of the primary sector will have a flow on effect to the tertiary sector.
AND

Flow on effects to other sectors 

The Kiwifruit Vine disease results in a drop in production of kiwifruit due to vines being pulled out or becoming less productive. My diagram shows that the Household Sector supplies workers and other resources for the producers, and is dependent on the Production Sector for income. 

The drop in production results in a drop in employment of kiwifruit pickers and packers, so their wages will fall. The profit of the kiwifruit orchardists will also fall, as will the profits of workers and owners of associate tertiary producers as discussed above. The household receives less income. As a result they will have to cut back on consumption spending. This will impact negatively on producers throughout the economy.  The government depends on households for income tax revenue. They also rely on the consumer spending of households for revenue from GST.  Since income and spending has decreased less income tax and GST is collected by the government. 

The government will be forced to cut back on some of the services it provides, such as not funding some operations or education initiatives. The overall effect of the disease is much wider than just the kiwifruit growers, as the flow on effects will impact on producers and households throughout the economy.


Final grades will be decided using professional judgement based on a holistic examination of the evidence provided against the criteria in the Achievement Standard.

Appendix 1: Family interdependence – example diagram

Appendix 2: Interdependence of Production Sectors – example diagram

[image: image1]
Appendix 3: Economic model – example diagram 

Teacher note: Students only need to show flow-on effects to two sectors.
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Government spending: we rely on the government to provide services such as education.





Producers:


Fresh and Fruity Grow or import fruit and vegetables sold 





We bank with the National Bank so we can keep our money safe and make payment conveniently. The bank charge fees for this and rely on this for interest.


We also have a mortgage so we can buy our house .We pay interest for this service. The banks rely on this for income





Labour: mum works at New World they are dependent on our resource





Import payments: we rely on overseas producers for bananas. We buy fresh fruit. They rely on us buying bananas for their income





Firms borrow money from the financial sector for investment. Banks rely on households to save so they can lend to firms 





Income tax: some of mum’s income is paid to the govt. The government relies on taxes





Income: We rely on New World for our income





Consumption spending: Fresh and Fruity rely on our spending for income





Goods and services: we rely on Fresh and Fruity provide our fruit & vegetables





















































Financial Sector


National Bank





Overseas Markets








Government





My Household





Tertiary Producer


Banks





Tertiary


Producer


Packing sheds





Tertiary Producer


Transport operators





Primary Sector:


Kiwifruit Producers





Explain the nature of the interdependence:


Kiwifruit growers rely on transport operators to truck their fruit to the packing sheds. The operators rely on kiwifruit growers for their income





Explain the nature of the interdependence:


Kiwifruit growers rely on packing sheds to store their fruit and pack it. Packing sheds rely on kiwifruit growers for their income





Explain the nature of the interdependence: Kiwifruit growers need banking services so they can make payments and borrow money for investment. Banks rely on kiwifruit growers to pay for these services for their income





Consumption spending decreases














My Household





Producers decrease production of kiwifruit and associated service








Overseas Markets











Government









































Less export receipts 





Less income tax and GST collected





Less spending on government services








Financial Sector





Fewer saving in the banks





Fewer funds available for investment
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